Name __________________________________	Date ___________________

LESSON 1.3 – Notes

Assignment:	1)  Read Chapter 1.3, pages 18 – 21.
		2)  View the Chapter 1.3 video, and complete this worksheet.

Solve  by Factoring

Key Term:
· Monomial: number, variable, or product of number(s) and/or variable(s).
· Example: ____________________________________________
· Binomial: sum/difference of two monomials.
· Example: ____________________________________________
· Trinomial: sum/difference of three monomials.
· Example: ____________________________________________
· You can use factoring to write a trinomial as a product of binomials.
· Example:____________________________________________________
Question 1:
· Factor:
· (a) 				(b) 





Factoring quadratic of the x2 + bx + c (coefficient of the x2 term is 1)
Step 1		Write the quadratic trinomial in the form _________________________.
Step 2	Factor the trinomial to the ______________________________ of two __________________________. Because coefficient of the x2 term is 1, then x2 + bx + c = (x + n)(x + m), where n and m
         Multiply to give ______
         Add to give ______
	Step 3		Check your work by __________________________ out the factors.
Key Term:
· Difference of Two Squares:
 = __________________________________

· Perfect Square Trinomial:
 = ________________________________
 = ________________________________

Question 2:
· Factor:
· (a) 				(b) 





· (c) 





Roots of a Quadratic Equation

· Zero Product Property (how to find the roots of a quadratic equation): if A and B are expressions and AB = 0, then ____________ or ____________.
· Example:
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Question 3:
· Find the roots of the equation: 







Question 4:
· You have a rectangular vegetable garden in your backyard that measures 15 feet by 10 feet. You want to double the area of the garden by adding the same distance x to the length and width of the garden, find the value of x and the new dimensions of the garden.










Pause!
What do I mean by the x-intercepts are just hanging out for us? I mean that if we have an equation written in intercept form, like , my intercepts can easily be found. By letting y = 0, we get that our x-intercepts are ____________ and ____________.

Question 5:
· Find the zeros of the function by rewriting the function in intercept form.
· (a) 				(b) 

